#### Class- IX-A

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	H. HINDI	HISTORY	MATHEMATICS
	Madam Abha	Madam Papia	Sir Shantibrata
Tuesday	PHYSICS	COMPUTER- Sir Sanku	GEOGRAPHY
	Sir Subhrajit	ART- Sir Dipak	Madam Mahasweta
Wednesday	BIOLOGY – (PRAC)	ENGLISH	CHEMISTRY
	Madam Ashmini	Madam Kimi	Sir Saummya
Thursday	H. HINDI	HISTORY	GEOGRAPHY
	Madam Abha	Madam Papia	Madam Mahasweta
Friday	PHYSICS- (PRAC)	COMPUTER- Sir Sanku	CHEMISTRY (PRA)
	Sir Subhrajit	ART- Sir Dipak	Sir Saummya
Saturday	BIOLOGY	ENGLISH	MATHEMATICS
	Madam Ashmini	Madam Kimi	Sir Shantibrata

# Class- IX-B

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	BENGALI	MATHEMATICS	HISTORY
	Madam Sujata	Sir Sushanta	Madam Silpi
Tuesday	PHYSICS -(PRACT)	CHEMISTRY- (PRAC)	GEOGRAPHY
	Sir Sudip	Madam Reshmi	Madam Sonali Nandi
Wednesday	BIOLOGY- (PRAC)	ENGLISH	COMP - Sir Rana
	Madam Arundhati	Madam Mandira	ART- Sir Dipak
Thursday	BENGALI	MATHEMATICS	HISTORY
	Madam Sujata	Sir Sushanta	Madam Silpi
Friday	PHYSICS	CHEMISTRY	GEOGRAPHY
	Sir Sudip	Madam Reshmi	Madam Sonali Nandi
Saturday	BIOLOGY	ENGLISH	COMP- Sir Rana
	Madam Arundhati	Madam Mandira	ART- Sir Dipak

### **Class- IX-C**

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	GEOGRAPHY	MATHEMATICS	HISTORY
	Madam Sonali Nandi	Sir Sushanta Roy	Madam Silpi
Tuesday	PHYSICS (PRA)	COMPUTER	HISTORY
	Sir Sudip	Sir Sanku	Madam Silpi
Wednesday	BENGALI	ENGLISH	CHEMISTRY (PRA)
	Madam Sujata	Madam Mandira	Madam Pragya
Thursday	GEOGRAPHY	MATHEMATICS	CHEMISTRY
	Madam Sonali Nandi	Sir Sushanta Roy	Madam Pragya
Friday	PHYSICS	COMPUTER	BIOLOGY
	Sir Sudip	Sir Sanku	Sir Kshirad
Saturday	BENGALI	ENGLISH	BIOLOGY- (PRAC)
	Madam Sujata	Madam Mandira	Sir Kshirad

### **Class- IX-D**

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	HISTORY	ENGLISH	BENGALI
	Madam Papia	Madam Kimi	Madam Baishaki
Tuesday	MATHEMATICS	CHEMISTRY (PRA)	GEOGRAPHY
	Madam Rini	Madam Reshmi	Madam Mahasweta
Wednesday	BIOLOGY (PRA)	PHYSICS- (PRAC)	COMPUTER
	Madam Arundhati	Sir Pinak	Sir Rana
Thursday	HISTORY	PHYSICS	GEOGRAPHY
	Madam Papia	Sir Pinak	Madam Mahasweta
Friday	MATHEMATICS	CHEMISTRY	BENGALI
	Madam Rini	Madam Reshmi	Madam Baishaki
Saturday	BIOLOGY	ENGLISH	COMPUTER
	Madam Arundhati	Madam Kimi	Sir Rana

#### **Class- IX-E**

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	GEOGRAPHY	ENGLISH	PHYSICS (PRA)
	Madam Nivedita	Madam Anuranjita	Sir Sudip
Tuesday	MATHEMATICS	BENGALI	HISTORY
	Sir Sushanta	Madam Baishakhi	Madam Silpi
Wednesday	HISTORY	BIOLOGY	COMPUTER
	Madam Silpi	Sir Prashanjit	Sir Abhijit Roy
Thursday	GEOGRAPHY	PHYSICS	ENGLISH
	Madam Nivedita	Sir Sudip	Madam Anuranjita
Friday	MATHEMATICS	BENGALI	CHEMISTRY
	Sir Sushanta	Madam Baishakhi	Madam Pragna
Saturday	BIOLOGY (PRAC )	CHEMISTRY (PRAC)	COMPUTER
	Sir Prashanjit	Madam Pragna	Sir Abhijit Roy

# Class- IX-F

Day	1 <sup>st</sup> Period	2 <sup>nd</sup> Period	3 <sup>rd</sup> Period
	11.00 – 11.45 am	12.00 – 12.45pm	1.00 – 01.45 pm
Monday	GEOGRAPHY	HISTORY	ENGLISH
	Madam Sonali Nandi	Madam Papia	Madam Puja
Tuesday	MATHEMATICS	BIOLOGY	COMPUTER
	Madam Rini	Sir Kshirad	Sir Mithun
Wednesday	BENGALI	PHYSICS (PRAC)	CHEMISTRY
	Madam Sujata	Sir Pinak	Sir Saummya
Thursday	GEOGRAPHY	HISTORY	COMPUTER
	Madam Sonali Nandi	Madam Papia	Sir Mithun
Friday	MATHEMATICS	PHYSICS	CHEMISTRY(PRAC)
	Madam Rini	Sir Pinak	Sir Saummya
Saturday	BENGALI	ENGLISH	BIOLOGY - (PRAC)
	Madam Sujata	Madam Puja	Sir Kshirad